SEQUENCE OF PROGRAMS used in :
Skill biased heterogeneous firms, trade liberalization, and the skill premium
James Harrigan and Ariell Reshef
All programs that generate a joint distribution use placket_gen.m to do so.

Programs that have “gold” or “goldstandard” use gold as the numeraire. There is a fixed amount of gold in the global economy. Thus, all prices are in terms of units of gold. This facilitates interpretation of prices, with negligible computational cost (one additional linear equation).

1. Estimate distribution parameters
Uses parameter values as described in main text and Chile’s skill abundance in 1995 = 0.26.
Main script: 
p6b_smm_openecon_goldstandard.m
Uses:

p6b_smm_openecon_goldstandard_objective.m

p6b_smm_openecon_goldstandard_equilibrium.m

2. Compute autarky equilibria
Need to do this for each skill abundance (0.1, 0.26 and 0.5) and θ (1 and 11).  Store results.

Main script: 
p4a_1_closedecon_goldstandard.m

Uses:

p4a_2_equilibrium.m

Results saved in: p4a_autarky_equilibrium_SA##_theta##.txt
3. Experiment: Increasing skill abundance in Bexico to catch up with America, while they trade

Main script: 
p10d_1_endowments_goldstandard.m

Uses: 

p10d_2_symmetric_equilibrium.m

p10d_3_asymmetric_equilibrium.m
Results saved in: p10d_1_endowments_ goldstandard_results.txt

4. Adjust total labor force in country B by a factor that makes real GDP in B in autarky equal to real GDP in A in autarky.  
Main script: 
p19_1_endowments_correct_godlstandard.m

Uses: 

p19_2_equilibrium.m

Inputs: use previously computed equilibria, stored in

p10d_1_endowments_goldstandard_results_tau#_theta##.txt

p4a_autarky_equilibrium_SA05_theta##.txt

p4a_autarky_equilibrium_SA01_theta##.txt

Results saved in:
p19_1_endowments_correct_godlstandard_results_tau#_theta##.txt
5. Experiment: Trade liberalization between identical countries

Main script: 
p11a_1_tariff_symmetric_gold.m
Uses: 

p11a_2_tariff_symmetric_gold_equilibrium.m
Results saved in: p11a_1_tariff_symmetric_gold_results_theta##_SA##.txt

To produce data for tables for paper, use: p11a_3_tariff_symmetric_gold_tables.m

6. Experiment: Trade liberalization between Asymmetric countries
First compute autarky equilibria (step 2, p4a_1_closedecon_goldstandard.m).  Then run skill abundance catch-up experiment (step 3, p10d_1_endowments_goldstandard.m).  Then adjust labor force in B (step 4, p19_1_endowments_correct_godlstandard.m).  Only then can we run this experiment, that requires initial values from p19_1_endowments_correct_godlstandard_results_tau#_theta##.txt.
Main script: 
p12c_1_tariff_Asymmetric_gold.m

Uses: 

p12c_2_equilibrium.m


Inputs: 
p19_1_endowments_goldstandard_results.txt (computed by p19_1_endowments_goldstandard.m)

Results saved in: p12c_1_tariff_Asymmetric_gold_results.txt

To produce data for tables for paper, use: p12c_3_data_for_tables.m

7. Net factor content of trade figures for tariff reductions between asymmetric countries
Requires input from trade liberalization between asymmetric countries (step 6, p12c_1_tariff_Asymmetric_gold.m)
Main script: 
p16b_1_skill_content_gold.m
Uses: 

p16b_2_exp_skill_intensity.m

Inputs: use previously computed equilibria, stored in p12c_1_tariff_Asymmetric_gold_results.txt.
8. Compare distribution of φ in A vs. B in autarky and free trade

Main script: 
p20_1_phidist_goldstandard.m

Uses: 

p20_2_autarky_equilibrium.m

Inputs: use previously computed equilibria, stored in

p12c_1_tariff_Asymmetric_results_01_05_theta##.txt 

p4a_autarky_equilibrium_SA05_theta##.txt 

p4a_autarky_equilibrium_SA01_theta##.txt 
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